1- Why the Reserve Bank of India is known as 4- Consider the following statements regarding

‘lender of last resort’? Invest India:

1. It provides lending facilities to the banks at all 1. Itis the investment promotion and facilitation
times. agency of india.

2. It provides foreign exchange to the government 2. Itis a public entity with equal shareholdings
for meeting its import obligations. between the centre and state governments.
Select the correct answer using the code given Which of the statements given above is/are
below- correct?

a. lonly a. lonly

b. 2only b. 2only

c. Both1land2 c. Bothland?2

d. Neither 1 nor 2 d. Neither 1 nor 2

2- Consider the statements regarding Financial 5- With reference to the agriculture and the allied
Stability and Development Council: sectors in india, consider the following

1. It addresses the inter-regulatory coordination statements.
issues in the financial sector. 1. Cattle account for more than fifty percent of the

2. Itis headed by RBI Governor. total livestock population.

Which of the statements given above is/are 2. Fish production from marine sector accounts for
correct\ more than half of the total value of fish

a. lonly production in india.

b. 2only Which of the following statements given above

c. Bothland?2 is/are correct\

d. Neither 1 nor 2 a. lonly

b. 2only

3- Which of the following actions can be taken to c. Bothland2
combat inflationary pressures in an economy\ d. Neither 1 nor 2

1. Curtailing government expenditure.

2. Providing cheaper loans 6- Consider the following statements regarding

3. Giving tax benefits. Balance of Payments (BoP):

Select the correct answer using the code given 1. Itisarecord of transactions between residents of
below- a country with the rest of the world.

a. lonly 2. Itis not independent on the currency of the

b. 2and 3only transaction.

c. land3only Which of the statements given above is/are

d. 1and2only correct?

a. lonly

b. 2only

c. Bothland2
d. Neither 1 nor 2
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7- In the Product method or Gross Value Added
(GVA) method, the Gross Domestic Product (GDP)
is calculated by adding the gross value added (GVA)
of all firms in the economy. Which of the following
are used to find the GVA of a firm?
1. Sales of the firm
2. Change in investments
3. Value of intermediate goods used
Select the correct answer using the code given
below-
a. land3only
b. 1and2only
c. 2and3only
d 12and?2

8- Consider the following statements regarding
Dumping:

1. It refers to a practice when the export price of
a product is less than the cost of production in
the home country.

2. Union Ministry of Finance is the nodal
agency responsible for investigating the cases
of dumping in india.

Which of the statements given above is/are
correct ?

a. lonly

b. 2only

c. Bothland2

d. Neither 1 nor 2

9- Which of the following services can be provided
by a Small Finance Bank?

Pension products

Mutual fund services

Bank Deposits

Foreign Exchange

Select the correct answer using the code given
below-

a. 1,2and 3only

b. 3and4only

c. 1,2and 4 only

d. 1,23and 4

el N S

10- Consider the following statements with respect to
Mahatma Gandhi National Rural Employment
Guarantee Act, 2005:

1. Only rural Below Poverty Line families are
eligible for the benefits under the Act.

2. It promises 200 days of guaranteed wages
employment to every adult member in rural
areas.

3. It provides for the voluntary unskilled manual

wage works.

Which of the statements given above is/are
correct?

3only

2 and 3 only

1 and 3 only

1,2and 3
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11- Consider the following statements with respect

to Consumer Price Index:

1. It computes price changes in both goods and
Services.

2. Itis computed by the Office of Economic
Advisor (OEA), Department of Industrial policy
and Promotions.

3. Itis taken as measure of inflation while

formulating monetary policy by RBI.

Which of the following statements given above

are correct ?

1and 2 only

2 and 3 only

1 and 3 only

1,2and 3
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12- It is calculated by adding residents investment
income from overseas investments and subtracting
foreign residents investment income earned within a
country to the Gross Domestic Product (GDP).
Which of the following concepts is explained in the
above paragraph:

a. Gross National Product

b. Net National Product

c. Net Domestic Product

d. Net National Income
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13- Consider the following statements with respect to
inflation:

1. It decreases the purchasing power capacity of a

currency.

2. It benefits both the bondholders and debtors.
Which of the statements given above is/are
correct ?

1 only
2 only
Both 1 and 2
Neither 1 nor 2
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14- Which one of the following groups is the most
abundant in terms of number of species identified ?
a. Fungi
b. Green plants
c. Bacteria
d. Insects

15- Consider the following statements :

1. Crystallization is a form of mechanical
weathering.

2. Hydration causes granular disintegration.

3. Frost action is synonymous with freeze-thaw
action.
Which of the statements given above are
correct ?
a. land2only
b. 2and 3 only
c. land3only
d. 12and3

16- Lapland is a cultural region largely within the
Arctic Circle in the north of the Scandinavian
Peninsula. Who inhabited the Lapland?

a. Sami people

b. Padaung people

c. Hamar people

d. Himba people

17- Which of the following statements about vitamins
are correct /
1. Vitamin C is essential to make connective
tissue in body.
2. Vitamin D is needed for synthesis of eye
pigment.
3. Vitamin B2 helps in maturation of RBC.
4. Vitamin C is required to make use of calcium
absorbed from the intestine.
Select the correct answer using the code given
below-
a. land?2
b. 1and3
c. 2and4
d land4

18- Why is hydrolysis an effective form of chemical
decomposition of bed-rock in humid tropics /

1. Humid tropics experience high temperature
and humidity.

2. There is high diurnal range in temperature.
Select the correct answer using the code given
below-

a. lonly

b. 2only

c. Bothland2
d. Neither 1 nor 2

19- All life forms contain “molecules of life” These
are

Carbohydrates

Proteins

Nucleic acids

All of the above

oo o

20- Optical fibres,though bent in any manner allows
light to pass through. What is the inference that one
can draw from it/
a. The concept that light travels in straight path
IS wrong.
b. Light can flow through the optical fibres.
c. Light can travel through the fibres because of
their ductility.
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d. Light can be travel through the fibres due to
multiple total internal reflections.
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21- The concept of demographic transition provides a
model for

a. analyzing government response to changing
pattern of population growth

b. explaining major patterns of global population
movement throughout the history.

c. analyzing spatial variations in the distribution,
growth and movement of population over
time

d. examining the relationship between economic
development and natural population change.

22- Who among the following was not associated
with the Sarvodaya movement /

a. Jaya Prakash Narayan

b. Acharya Vinoba Bhave

c. Dhirendra Mazumdar

d. GV Apparao

23- One of the main causes of air pollution in cities is
emission from vehicles like cars and trucks. Cars
emit various pollutants which are bad for hum health
when inhaled, like

Nitrogen oxides (NOx)

Carbon monoxide (CO)

Carbon dioxide (CO»)

Benzene

el N S

1and 4
land 2
1,2, 3
1,2and 4
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